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INTRODUCTION

One of the most 1mportant functlons of modern bank management

is the introduction of meohanlsatlon in dlfforent areas of banke

uw»egmng,«Most-ofzthowoporations-carriodrout;inwpanks are repetitive

in nature and consequently, a substantial amount of timoﬁ;an.be
saved with proper mechanisation. Naturally, therefore a bank with
prroper automatlon can provide much botter f30111t1es and service
¥ to 1ts customers Wthh 18 of utmost 1mportance, 1n vlow of the
'”Wout-throat~oompot1tlon_betweenvthogvar;ousrcommer01al banks. With
this background in view, this dlssertatlon was taken up to auto-
I ﬁatlso one V1tal service orea of the banklng system,'namoly, the
teller service., It was also proposod to offer a fow'more services

connected to the management of bank as a whole,



Language used for implementation

Time limit
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Chapter 2.2 ¢
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ChﬁEter 2-4 . o
Details of each module
2.4l User module @

This module is furthei.divided into several submodules 3
- l)_DiSplay modﬁle
2) Accqﬁnt no.checking module
3) Password checking module

4) Service module

A/¢. No, | Password
checking checking
module module

st e
!

Service L.
module

Functiongiéf differeng Smegdule§5:

1) Display module : This module takes cafe of all the ‘inter-

acting between the user and the teller. -
2) wwm : Thls mo.dql%e '.C-hecks the,'a‘ccount _.l{wl
} "sﬁe;ified the_user.:; _:!f -
_.5) EﬁEéﬂgsg;gggggigg;ggégig;;jThis module checks the users
password. o o o _

4) Servic

module : The module serves the customer according
to their reque:’

.' _Cbntdll{-l |



The action routines under servlce module.'
l) Withdrawal proc9551ng routlne i
2) Deposit processing routlnGIW

3) Enquiry proce551ng rautlne '

Details of each action routine
meters,

nd their input and output parg-

1) Withdrawal Processingfﬂﬁutine :

~ Inputs :;l) apdouﬁtthpef"
- ihi2).account numb &7
3) amount of mone¢y to be withdrawan
4) the type of currency _notes to be given
' to the user o

5) date of tran action supplied ‘by “the system.

Qutputs : any qqe:gfﬁtheijLlowingfmessages.

1) the user does not have enough money and
his current account saV1ng is such and
such . . s |

2) the seiﬁice cannot be provided because

f'_already one wlthdrawal transaction has

taken place ‘on that day.

Contdeeecse
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Manager's Password ~ Service Processor’
Checking module _ - '‘module
> | o

The functions of thé above two modules

1) Manager's Password Checking module ¢ If checks the password of

the manager,

2) Service Processor module ¢ If processes the-servise;rquggt@dl:f

by the managers

Details of cach module inputs gnd outputs @

Manager's Password Checking modulg
Inputs : Password given by the manager
Outputs 3 Either 1) a message that the
o passwQrd Ls wrong
or 2) a signal to the service

processor module,

service Processor module &

. 'Inputs':wf§ﬁé Ef'sé£vice requested by the
Y Gapager T T

Outputs : a call to specific action routine
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- 13 -
Closing an account takes help from the fallow1ng two routlnes
1) Account checking routine of +he user module"m

2) Interest calculation routine

3) Password checking routine of the user module

Details of Interest Calculation routine :
This routine is divided into two parts :
1) For abnormal calculation of interest i.e. whilé !
closing the account
2) For normal calculation of interest i.e. every

. six months,

For Case 1,
- Inputs : 1) Account No,. _

2) Date supplied by the system

For Case 2.

Inputs ¢ 1) Account No.

For both the cases the outputs are same.
Qutputs : 1) The details of the current Savings

ACCﬂunt;

Contdecese



The details of the files maintained and details of the;r'structurea.

The master file for each t

e of account.

It contains all the relévant information about an account

holder,

Since the no. of accounts for a partlcular type of acceunt

may be huge, the master file is broken into several smaller files
having a unique file 1dent1fler Nno . umrmdll.thesg smaller flles as

Lol

SUbfilES-

- Every subfile is of constant size and it consists of a flxed
no, of sections of flxed size. Inltlally, only one subflle will
be created and it is given as fllesldentlfler nq. The 1nformat10n
aboutfthe.account holder can be-obfained directly from this file .
Dy acéessing the record specified by the record no field of the
accountjnq. Each_record'df'the subfilesLhas~the:following

structure,:

- Check-Passwnrd' free | néme address

Lo

" Check=Password" field gives the Password no for checking.

Contdecess



- 17 -

Account file for each account holder.

Each account holder is given an unique file which is identi-
fied by the account no., It stores the details of each transaction

made to that account.

It has the follOwing structure.

type of
transaction

Date of
transaction

amount. | tqta;

" Date of transaction'' field gives the date on which the tran-
saction has_beeﬁ made. ' ' o S
' Type of transaction! field gives the type of transaction, . ..

(withdrawal, Deposit. or Interest)

" Amount " field gives the amount of money involved in transaction.

'"Total!' field tells us how much money is left on that account

after the transaction,

COntd. L I B .‘



The operations that are being carried out.by the teller is
menudriven, Users and the bank manager have to select the proper
menu for their required service. Menus are displayed in the vedeo
terminal in bright ¢haracters s0 that the users can easily make

use of them-

For example - suppose an user wants to withdraw some money from

his Savings bank account,

The following lines will be displayed first.

| Savings ¢ ,,l
:
|

P Current - ¢

-

The user will have to bring the cursor inthCOEIECt I ow aﬂd:thena:

press ENTER,

Contde.seee
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Frogram User modul e

{% Thig Frogram takes care of all

the usual

Bank Teller operations., %)

(¥ The following compiler directives are used. %)

(#ECc~) {hrealk

(i3 {1oresult checking of 3}

checking o+l

{Fr+) {range checking oni

{ Constant Declaration part for the Main Program 3

const

uger _password_file name
withdrawal

depos1t
enguiry
no_of _sec
sec _len

max_no_files

smal
mexdd 1um
mediuml
hhig

ver
Hor
ettt cor
verybig
Savings
current
minrtamt

B 0 # 0 # 0 #H # 0 il B

it B # R H

{ Type eclaration part for the Main Frogram

type

string3
stiringé
atring
stringéd
string/
string8
stringl
string4o
entype

master rec tvype

at:_rec _type

stat rec _tvype

o OB OH RN R

If

‘user.pas’
wa
J'EI!
IEJ'
993
103
99

N AR gx

.
{1

oy
e ax

stringl3];

stirinagld ] g

stringl%];

ctringléold ;

atringl /7]

stringlBl ;

astringl20);

astringld40]

O..33

record
date_of op:stringé;
pass tield:integer g

f rae schars
name ssbtringdo g
addr tatringdo
end j
recorol |
date sstrinabdg
trans_tvype::char
amt ;total real
end 3
recordad

tile_id, -



sec 1d
no_of rec srinteger

end
banlk _trec _type - = rerord
| s _no rinteger:
date rstiringd
trans_type :charg
amt ,net cash ireal
end g

{ Variable Declaration part for the Main Frogiram 3

vV ar
out . tteant
AC _nNo rstringd g
lser password,
file_no,
=l alnt ol
act _ac no,
S N0,
check password,
type"pfmﬁuwrency,newmﬁlmnm,b,n_
| | integer
user password file sfile of integer;
service type,
type of _ac,
o h

tchar g
LSer name st 1ngdO
wser  addr sutringdo;
money ,ptotal yntotal rr@al g
toadate ' rstringé
master rec . | imaster_rec type s
master file :file of master_rec type;
stat rec | | rstat _rec types |
wstat file ttile of stat _rec _type:
ac_rec | rac_rec_type;g
ac_file | stile of ac_rec_type;
bank rec sbhank_rec type:
bank _file . tfile of bank _rec type;
enquiry_ type rentype
ac_tile_name | rstring/g
ac_+ile size »integer
master_{file name s rstringd;

Function change(a:étring&)=5twingﬂ;

VEP
arstringt3
begin
abQl)s=chr(8);
a:mcmpy(a,l,2)+‘m‘+cmpy(5,3,2}+’w'+cmpy(§,ﬁ,2};
_ change r=a
enc §
tunction map (chichar) istring40;
begin
case ch of
"IV rmap s=‘Deposit’ g
"Wimap i='Withdrawal ’ ;.
“17 smap =’ Interest updation’
ernd
erd

Frocedure Clear



(¥ This procedure clears the entire screen. %)

begin
window(l ,1,80,2%)
clrscr

ernd; {(cleard

procedure wait j
Var |
chaschar
begin
repeat
trerad (kbd,ch)
until ord(ch)=13

endiliwaitl
Frocedure Create _window(irinteger) ;

(¥ This procedure creates window putting bright borders around it %)

Var
11 ,Jdd4ip,dprinteger:
Frocedure bnx(IEft,tmp,wight,bmttmm:integer};
Var
#ayyiinteger
procedure twochar (i1 ,y1 ,%2,y21integer) :
begin
gotoxy il ,vi)y
write(chr(174))
gotoxy (2 ,v2) 3
wirite (chr (176) )
end ;s {twochar)
begin
for x:i=left to right do
twochar (2 ,top 4, ,bottom) 3
for yi=top to bottom do
begin
twochar (Jeft  y,right ,y) ;
twochar(left+l ,y,right-1,y)
erd
end s {hox 3
hegin |
case 1 of

end
medium::begin

end 3
mediuml shegin

v
N
E

b O~ LT e
Eﬂ ‘X

end 3
big:ibegin
11 s=4 3
JJ:=13
1 =80
Jp:z”:ffl
end

vers theagin
11
J.3

1f

R -
™Y u
q

;; L]



ip =80

ipr=1%
end 3

hor shegin

11 2=F

JJ =153
10 =803
Jp =3

N

end j
ettt cor:begin

TIE I

E
H
-

Ca, ™ Lo

= B
| |
£ P
l:l A3 =S
2" 1

R

end :
vervbhigibegin

&r ol

end
window(l,1,80,2%) ;
window(ii,jj,.ip.Jip) 3
box{2,2,ip—-1ii ,jp-34) 3
window(ii+4,33j+2,ip-4,ip-2) 3
olrscrg
endil......BEnd of Procedure Create window. .. ouv...

prmmeduhe Meplay main g

(# This procedure gives the starting display. %)

begin
clrscryg
create_windowlverybig) ;
gotoxy (2,20)
write ('Fress RETURN to Start.’) g
create window(mediuml)
gotony (7,3) 3
wreite (7AUTOMATED BANE TELLER SYSTEM’) 3
GOTOXY (10,5) 3 |
WRITE ( "DESIGNED AND DEVELOFED) ;
gotoxy18,7)
write{ "BY ') ;
gotoxy (12,9) 3
wirite ( TFURMENDU STINHAY ) 3

endi{.....00i8play main....oe.?

Hrocedure Goto_window(iiinteger) j;
vap
11,3Jd4ip,dprinteger:
hegin
case i of
small :begin

id 2=y
JJda=2;
ip =il g
Jpa=1%
end 3
mediumibegin
11 =g
JJe=2ds
1pi=68
ipe=15

mediuml :begin



end 3
big shegin
i131=4 3
JJ:=1z
LR =80 g
Jp i=24
end 3

ver :bhegin
11:=501 3
J.ge=2y
1 =80
Jpi=13
end §
hor sbhegin

SO
11!""""'—'5

end 3

Jp =
end j
vervhig:begin
11 1y
Ji= 113
1p = 80;
Jp =2

e ol
end j
window(ii+4,j3+2,ip-4,ip-2) ;

clrscr
endl ;

Frocedure cursor movement(limit_up,limit_down:integer) i

(¥ This procedure moves the cuwrsor in a vertical line

. *)
Var -
ch schar s
done thool ean
bhegin
- dones=false
repeat

read(kbd,ch) g
it ord(ch)=27
then begin

~ead{(kbd,ch)
case ch of

' shegin
1f wherey=1imit down
then write (#7)

else gotoxy (wherex ,wherey+2)
end g

"M iheqgin
1f wherey=1imit_up
then write(#7)

el se aotoxy (wheres ,wherey-2)
erd

elese write (#7)



end
encl
else if ord(ch)=13
then donei=true
@lse write(#7)
until done;
endil. ... ..End of Procedure cursor movement ........?

(¥ Frocedure (2) Enter_ac_no *)
Frocedure Enter _ac noj

(# This Procedure asks for account nummber . #*)
VvV ar

done sbhool ean s
-h sChar g
bhergin

aoto_window (hor) 3
gotory(3,3) ;

wi~ite ("HBring the cursor in the correct row and press RETURN. )

goto_window(small) g

gotoxy (2,2) 3

write (' Type of Accounts’) g
gotoxy (4,4)
write('Savings..c...2’)
gotoxy (4,6) 3
write( ' Current . onee2’) g
gotoxy (18,4) ;
cursor_movement (4 ,46) 3

Case wherey of

ditype of_aci=savings:
Hiritype of _ac:=current

end 3

goto_window (hor) ;
gotoxy{(3,3);

wrrite (‘Enter your Account number. ) :
write (' Press RETURNY) @
goto_window{(small)
gotoxy (4 ,4) 3

write (Y Account No ~7) g

read (ac_no)d ;
clrscr

E"HCI ; (* ¥ E & ¥ F.8 F M N End G'F [JI""E]E:E'C'LH“E“ ET"ItE!"‘___E:lC__“nD W 5 B 8 N m F EFE E N ]

(¥ Frocedure (3) Enter _user password %)
Function Enter_user password:boolean

(#* This Function asks for password from the user.®)

Ve
siatringd
begin
Enter user_password:=ztrue;
goto_window(hor) g
agotoxy (3,3) 3
write ('Fut Your Password Card Inside. /)
gotoxy{(3,4) 3
wrrite (’and Fress RETURN’) :
wait ; -
clrscr
aﬁsign{uaermpaﬁﬁwmrd“fi1e,ugermpaﬁawmrdwfi1amname};
reset (user_password file)
1+ ioresult <30
then begin
cliscrg
goto _window(ver) 3
gotoxy (3,4) 3
write ('Card Reading Error’) ;
wiite (#7) ;

S Eps o eemp o

1



ENtu, _wser _password =+al se
end
else begin
Pead(HEEPWpaEENQFdeiTE,UEEPﬁp&ﬁﬁWﬂPd};
close (user_password file)

Erdi (... ..., . End of Enter user password....oesese.. #)

(% Procedure (4) Enter sevice type %)
Frocedure Enter_ service_type:

(¥ This Procedure asks for service tvpes %)
Var. | |
iydiinteger;

Begin
goto_window(hor) ;
gotoxy{3,3) ;
write (‘Bring the cursor in the proper row ‘)
gotoxy(3,4) ;
wiite (' and Fress RETURN' ) ;
qgoto_window{small) 3
goatoxy (4,4) 3
write('Withdrawl :7)
gotoxy (4,46) ;

write(‘deposit ') %
gotoxy (4,8) ;
write( Enquiry -

gotoxy (15,4) ;

i
i
B
i
O
]
=
O
<
15
3
1t
-
-
>
0

il weny

Case wherey of
4:sarviﬂemtype:=withdrawa1;
&:Earvicemﬁype:mdepmﬁit;
Bzaervicamtypezxenquiry
end | |
endif¥........... End of procedure Enter service type ..o s ewnun. o ®)

Frocedure BEPviﬂamgmmp]Etimnmm95§age(ﬁerviﬁemﬁype=ahar);

(¥ This Procedure gives service completion messages to the user %)
begin
- goto_window (ver) :
- gotoxy(4,2);
wrate(/Service Over’)
gotoxy(4,4)
wirite (‘Take the slip ‘)
gotouy (4 ,3) 3
wrate (' from the printer’) i
gotoxy(4,6) s |
wirite (and keep it .7) :
wrriteln(out , ' Transaction Details’ =460)
wwite]n(mut,‘*******************’:ﬁﬂ)
writeln (out) j |
wrriteln{out,’/Name 240 user _name 140) §
writeln(mut,’ﬁddreaﬁ’:40,m5ermaddr:40);
wiriteln (out , 'Account number’ 140 ,ac_no:40) ;
wrriteln (out, ‘Date of Transaction’ 140 ,%:40) ;
wrriteln{(out ,’'Previous Total’ :40,ptotal :40:2) ;
Ccase service type of
deposit twrlteln (out , ‘deposited Amount 140 ymoney 140:2) ;
withdrawal :begin

' NER

n:mtrunc(mmney/typemmfmgurrenﬁy};

writeln(out, ' Withdrawal Amount ‘ 140 ,money 1 40:2) 3
wi~itelnf{out .’ “:114,'No of ’:?,type_gfw;urrency=3,’Rﬁ‘=3,’nmtE$ lssued’ 113,n140) ;

&nd .

end i

wrriteln (out , 'New Total’ 140 ,ntotal :40:0 -
wrelteln (out) g
flush (out)

endil......c...End of Procedure Service_completion message. . ...... N
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T T Frocedure Enter withdrawal _money s
(% This Frrocedure asks for the amount money to be withdrawan from the account
of the user . *®)

begin
goto _window (hor)
gotoxy (4 ,3) 3
wrrite (7Enter Withdrawal Money’) g
gotoxy (4 .,4) 3 _
wirite(’and Fress RETURN’)
goto window(small) ;
gotory (3,3) 3
wrrite (‘Withdrawal Money : 7))
raad (money) 3 |
goto _window(hor) ;
gotoxy (4 ,3) 3
wirite (‘Bring the cursor in the correct row and press RETURN. ) 3
goto _window{small) ;
gotony (3,2 3
write(’Type of Currency’)
gotory (5,47 3
wirite(’'Re S5 ‘) g
gotory (S,6) 4
wirite(’'Rs 10 7)) 3
gotory {(5,8) 3
wrrite(’Rs 100°7) ;
aotory (11 ,4) 5
cursaor movement (4,8)
case wherey of
4stype of _currency =5
LHirtype of currency =104y
Aitype of currency =100
end 3 -
c P
Endil e eees Entermwithdrawalmmmney.......}

(% Frocedure (5) withdrawal processor %)
Frocedure withdrawal processor,
hegin |
enter withdrawal money;
ac file namelOli=chr (7) j
anm}ile“name==cnpy(acmnn,&,3)+’.’+typemﬂf#a¢+'ac';
assign{ac _file,ac_file_name) ;
roeset (ac_ftile);
if ioresul t<x0
then begin
goto _window (ver) g
gotoxy(3,3);
write( ‘Error in accessing’) j
gotoxy (3,%) 3
write (‘Account file ~/ ,ac_file_name) j
goto window (hor) g
aotoxy (3,3) 3
write(/ Fress RETURN ) j
el
] se begin
ac file sizrer=filesize(ac_file);
cseek (ac_+tile,ac_file_size-1) 3
read(ac _file,ac _rec) |
ptotal i=ac_rec.total j§
if (ptotal-minamt) <5
then begin
goto _window(ver) j
gotoxy(3,3) 3 ,
write (’ your current savings’)
gotoxy (3 .4) ;3
wiite(’is Re ‘ ,ptotal :8:3) 3
gotoxy (3,53 3
write(’You cannot withdraw’) ;
gotory(3,6);
wicite(’any monegy now. ) j



QOTO_Window (hor) ;
gotoxy (3,4) ;
write(‘Press RETURN’ )
end |
el se
1t (ptotal ~money) <minamt
then begin
goto_window(ver) g
gotoxy (3,3) 1
write (‘your current savinges’)
gotoxy(3,4)
wi~rite(’is Rs ‘ ,ptotal :8:2)
gotoxy (3,5) 3
wirite (' You cannot withdraw’) ;
gatoxy (3,46) 3
wirite (‘more than Rs’ ,ptotal-minamt:8:2,° now’ ) s
goto _window(hor) j
aoOtoxy (3,4) ; |
write( ' Fress RETURN)
end
else begin
ntotal :=ptotal ~money
with ac_rec do
beain
cates=todate
trans_ typei=W’ ;
amt i=money
total i=ntotal
enc §
service _completion message(service type) s
writef(ac_file,ac_rec) |
seek (bank _file b)
new_ sl nos=bank_rec.sl no+l:
ntotal i=bank _rec.net_cash+money 3
with bank rec do |
hegin
sl _no:=new sl no:
dater=todate;
trans_tvpes=‘W’ s
amt 1=money ;
et cashi=ntotal
ercl 3
seek (bank_+ite,b) ;
write(bank _file,bank rec) ;
by s=b+1
goto_window (hor)
gotoxy {(3,3) 3
write( ' Fress Return ‘)
endc

end
close(ac file)

Brd; (¥ ...veeeaaEnd of procedure withdrawal pDroCessor..ccceeses. *)

Frocedure Enter _deposit _money;

(% This Frocedure asks for the amount of money to be depméitﬁd into the users
account .¥)

rezgin
goto _window(hor)
gotoxy{(4,3) ;
wiite(‘Enter Deposit Money’)
gotoxry (4 ,4) |
wirite (7and Fress RETURN') ;
goOto_windowi{small) ;
aotoxy (3.,4)
wirite (' Deposit Money 1)
readln (money)

k1



(¥ Froceduwrea (6) deposit _processor %)

Frocedure deposit processor
begin
enter_deposit _money
ac_ti1le_namelOdi=chr(7) 3
ac_file_ name:=copy(ac_no,&,3)+’ . +type _of _ac+’ac’
assignlac_ftile,ac_file_name) ;
reset(ac_file)
1t 1oresul >0
then begin |
| aoto_window (ver) ;
gotoxry (3,3) 3
wrrite( ‘Error in accessing’)
gotoxy (3,5) 3
wirite (‘Account file —/ ,ac _file name) 3
gotoxy (3,3) 3
wrrite ('Press RETURNY )
enc

&l se begin
ac_file_size:=filesize(ac file) ;
seek (ac_file,ac file_size—1) 3
read(ac _tile,ac rec) |
ptotal :=ac_rec.total ;
ntotal :=ptotal +money 3
with ac_rec do
begin
tdate:=todate
trans type:='0" ;
amt :=money ; |
total t=ntotal
end j |
wiritte(ac file,.ac rec) s
service completion _message (service type)
seek (bank_file bl : |
read (bank_file,bank _ec) ;
new sl _noir=bank _rec.sl no+l:
ntotal :=bank _rec.net cash+money
with bank _rec do
begin

LA ET

date:=todate;
trans types=I17
amt s=money;
net cashi=ntotal
end:
saek (bank _file,b)
wreite (bank _file,bank _rec)
by a=b+1 3
goto_window(small) g
create window(hor) 3
gotoxy (3,3) 3
write (' Press Return /)
e
close(ac _+file)
erndi{......End of deposit_processor...... 2

Frocedure Display enguiries;

(# This Frocedure displays different enquiries. *)
begin

¢lears

create_window(medium) 3

create_window(hor)

aotory (3,3) 3



wirite ("Bring the cursor in the proper row” )}
gotoxy(3,4) :

wiite ( and Fress RETURNY ) 3
goto window (medium) g

Qotoxy(4,2)

writa(’(ﬂ) Get the details of last transaction.........’)
aontoxy(4,4) 3 | |

wrrate (7 (1) Get the amount of last interest added .. vewu.’)
gotoxy (4 ,4) ;

wrrite (7 (2) Get the no of transaction made this YERM e v s’ )]
gotoary (4 ,8) 3

wrrite(’ (3) Get the details of all transactions...... “ oo’}
gotoxy (wherex ,2) 3

cursor movement (2,8) @

Case wherpy wh s

e

2ienquiry_type:=0;
4 enquiry _type:s=1 ;
Grenquiry type:=2.
Brenquiry_ type:=j
end 3
¢l ear;

create windowl(small) ;
create window (hor) g
create _window(ver)
endsf.. ... End of Hesplay enquUiries...c.o...l

Frocedure PFGCEEEmﬁﬁquiPiEE(i:Eﬁtypﬁ}i
Var |
Jak,yl,v@rinteger;
done:boolean

Dhesgin
ac_file namelOli=chr(7); |
ac_file name:=copylac _no,é& B)+’.’+typeﬂpfmﬁc+’ac’;
assign (ac tile,ac File_ nama)
reset (ac F11e)
if ioresult<s0
then begin
goto_window(ver) ;
gotoxy (3,3) 3
write ("Error in accessing”’ )
gotoxy (3,5) 3
wrrite (7Account file ’yac_file_name) :
end
else begin
case 1 of
Gsbhegin
ac_tile size:=filesizre(ac tile) g
seek (ac_ftile,ac _file _size—1)
read(ac flie,ac e ) 3
with ac rec do
Eyesgin
wrriteln{out , 'letails of 1ast twangact1mn 1 60) 3
writeln (out ’***************************’.ﬁﬁ};
wr1te1n(mut} |
wirriteln (out , "fl.s&\d:ﬁ1 of transaction’ :40,5:40) 3
write (out ’Typﬁ of transaction’ :40) ;
CASe tr*ane:._mtypra of
’N’:writeln(mut,’withdrawa1’:40);
’H’:writeln(mut,’ﬂepmait‘:46};
‘T mwriteln(out,’Interest Updation’ :40)
2 g -
wrriteln(out, ‘Anount of money involved in transaction’ ;60 ,amt 120 2) 8
wiriteln (out, 'Current Total Savinags’ 140 stotal :40:2)
end ;

end 3

1 theain
ac_frle sire:=filesirelac JFiled s
J*:ac fl]E Bize-1



done:=falses
while ((not done) or (J=0)
iy begin
seek (ac_file,j);
read(ac_file,ac_rec) 3
1f ac_rec.trans type=’1"‘
then begin -
wrriteln (out, ‘Amount of interest last added ke’ ;ac_rec.amb)
done=true |
end
else ji=j—-1
_ end
end 3

« sbegin

ac:_file sizei=filesizelac_filte);

Ji=ac _ftile _size—~1:

b 9=03

done:=fal se

while (not done) and (j»=0Q)

do begin
seek (ac_file, ) :
read{ac_ftile,ac _rec) s
val (copy{ac_rec.date,5,2) ,vl error) ;
val (copy (taodate ,5,2) ,v2 ,error) ;
1+ yl<y?d -
then done:i=true
@]l s begin

H N

Ji=3-13
b s=k+1]

end
end ; |
goto_window{ver) ;
gotoxy (1 ,3) ;3
write('No of transactions’)
gotoxy (1,4) ; |
write (‘made this yvear is 7,k :14)
end
3 ebhegin
cwriteln(out, ‘Date 7115, Transaction type’ 130, Qmount’ :10,/Total “:110) 3
writeln(out, ————————- e e e 0 1 S 40 3 7 o o o 1 Gt o i s o S A28 o o e s o
while not sof(ac_file) do
- bhegin
read(ac_+ile,ac_rec):
with ac rec do
hegin - -
wirritel n{out ;change(date) 115 ,map (trans_type) :30,amt :10:2 ,total :10:2) 3
end; |
goto_window(ver)
gotoxy{4,2);
write(’'Service Over’)
gqotoxy {(4,4) ;
writel('Take the slip ‘) ;
gotoxry (4,5 3 .
wirite (‘from the printer’)
gotoxy (4 ,6) 3
write(‘and keep it .°)
e
end 3
exmd s
goto_windaw (hor) j
ctotoxy (3,3)
write ('Fress RETURNY) 3
e2rd g |
close(ac_file) |
endil.......End of Procedure Frocess enquiries..coeeees. .3

Procedure Enguiry processaor
begin |
MHiasplay_enquiries: |
process enquiries (enquiry _type) |
ey (¥, ..., Ve s me e End of procedure EnQUiry proCessOr v e v e e s v e e e s ossss * )



(% Function (1) Dhécl Laccount no ¥) .
Function check _account no(sistrinag) tboolean

hegin

if upcase(sl11) < upcase{(type_of ac)
then begin

goto_window (hor) 3
gotoxy(3,4) ;
wirite ( 'Fress RETURN’) 3
goto window{ver) :
gotony (3,3) 3
write (‘Wrong account number’) 3
write(#7) @
Check actuunt“ﬁm:=fa159

end
@l se begin
master_ file_name:=copy(s,1,3)+" .DTA’
va](cmpy(5 6,3) yacrt_ac _no erwmr)'

d%ﬁl@ﬁ(maﬁtEP fite,master Fite_name)
reset (naster _file) s

1+ ioresultd>0
then begin
write(#7) ;
goto_window (ver) @
agotoxry (3,3) 3
weite ("Master Digk’) g
caotoxy (3,4)
write(’'Reading Error’) i
aoto window (hor) ;
gotoxy (3.4) g
wirite ( ‘Fregss RETURN L 7)
checlk_account no:=fal s
end
else begin
seek (master_file,act _ac _no):
read (master_file maatew rec)
1+ upcase(master rec. free) *N‘
then begin
check account _no:=true:
- user namei=master rec.name g
Lser addri=master rec.addr:

check password:=master r&u.paab fiel d
end
@lse bhegin
wirite (#7)
check acamunt Nor=false
gmtmmw1ndmw(ver)_
gotoxy (3,3)
write (‘Wrong Account no.’)
goto _window(hor) ;
gotoxy (3,4) %
write ('Fress RETURN’)

An

end §
end 3 |
close(master file)
end
By (% .y wannns «» End of Function Checl: _account no...... ke ¥ )

(* Function user_password checker Starts %)

Function user Jrssword checker (4 vJiinteger) tboolean g
begin

user_password checker ={=j

end ; -
(¥ End of Function user password_ checker #)
(****************************************%**ﬁ********i**********%****)

(¥Main user program starts bhere®) -
{*******%*****************************%***********m******%%*****%****}



Lreésgin
write(#7) ;
Clear:
Hisplay main;
wailt s
assigniout, "prn‘) ;
rewrlite (out)
¢l ear:
create window{ver) i
create window(hor)
agotoxy (3,3) 3
wiite (‘Enter Date and Fress Return.’)
create window(small) g
aotoxy (4 ,4)
wirite( 'NDate {dd-~-mm—yy) ') 3
rread(s) j |
todatel Ol i=chir (&) 3 |
todater=copy(s,1,2)+copy(s,4,2)+copy(s,7,8) ;
assign(bank _+i1le, 'bank .dta’)
reset (bank _+ile) ; *
bi=filesize(bank +tile)-1;
repeat |
clirsor s
enter_ac noj
1+ check _account _no(ac _no)
then begin
1+ enter user password then
1+ user password checker(check password,user password)
then bhegin
enter service type;
case service type of
withdrawal twithdrawal processor;
deposit deposit processors
enquiry senquiry processor
end 3

end
else begin
goto window(ver) ;
gotoxy{d,3) 3
write ('Wrong Fassword’) g
goto _window (hor) 3
gotoxy (3,4) 3
wirite('Press RETURN.) 3
ern ¢l
el 5
readktd,ch) g
goto _window (ver)
Goto_window (hor) g
until ordd(ch)<>13;
c:lose (bank _fi1le) ;
clear s
¢ 1ose{put)
end . | |
{96 90696 9 96 3 396 36 36 0696 36 36 36 06 36 3636 6 36 36 36 9 36 3696 0 96 36 36 3 9636 3606 96 36 636 36 N 362636 36 36 960 63696 36 30 3636 36 26 2606 3 6 M NN )

{Main User PFProgram Ends Herel
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CEi-}

{ ¥r+1

Frogram Ranker g S

{This Frogram takes care of some of the bank manager’s tasks)

{ Constant leclaration for the Main Ranker FProgram 3
const
m_password $ile name
user password file name ‘aruser .pas’ g
status_file name ‘wstat.dta’ s
..... | ‘emp dta’ g
Mo file name ‘no.dta’
bank _+file name ‘bank .dta’

‘man . .pas’ 3

Hof

i
3
O
L
H-
14
-
fis
=
i
H

check _m _password = 6776
no_of sec | = s
s ien =y
max no_+tiles = QG
cpen_account = {73
close ac SRR DA -
1nterest calcul ate = ‘173
deposit = 0y
Gavings = o’y
urrent . RS WA
v at e = ,04:
mmall = 14
mexd i um =y

v 1 = 3
Ve = 4y
hor = 5y
lett _cor = &3
verybig = 71
minamt = 20

(Type Declaration for the Main Banker Program 3}

tvpe
sstring3 - = stringl3);
stringd | = gtringld4] g
strings = stringlS];
stringbd = gtringlél] g
astring/ = abtringl 7]}
atringfl = atringl8];
stringdo = gtpringll0] s -
slringd4d = stringld40l;
master rec type = e ord

date_of _opistringbd;s
pass ftield:integer

tree tehar g
a mes sstringdo s
acidr tstringd

i »



il

ac_rec_type e ol
| date tstringé g
trans _typeschar g
amt,total real

end 3
stat _rec _type = precord
- tile id
sec id .
no_ ot rec tinteger
erd g
bank rec tvype = Rl
&1 _no rinteger
date rathringd g
trans_type ichar;
amt ,net _cashireal
. &l g
gmp_rec tvype = ecorcd
tile 1id,
LT o s
T 1nk tinteger
e *
emp f t | = tile of emp _rec btype
{ Variable Declaration for the Main Ranker Frogram )
var Hiintegers
ch | schars
A N 45 st i1ngd

m _password,error,act _ac _no,sec_no,u_password,
tile no,new _sl_no,no of files
rinteger;

m _password tile,user password file stile of integer
service_request ,type_of ac schar g

master name 15t ingR0 g

master adde rstringd0g

money ntotal - sreal g |

todate satringd

out | steut g

master rec | smaster rec _type:s
master f+ile :fite of master rec type:
st at rec | rstat _rec type:

stat file fite of stat rec type s
A rec - rac_rec_type:

ac _file stile of ac_rec _type;
bank _rec - : thank _rec type;

bank file | :tile of bank _rec type
ae: file name | satring?

ac_tile_size | rinteger

master _4ile name ratringdds

check password rinteger |

Eemp_rec remp_rec type

emp file remp f tg

no _file tfile of integer;:

Qver | ool ean

Frocedure Create window(i:integer) ;
vair
1l1,Jd,ip.dp:integer; |
Procedure hox (1Teft ,top,right bottomsinteger) 3
Var
M ayrinteger:
procedure twochar (1 ,y1 22 ,v2rinteger) 3
hegin
gotoxy{xl ,yi);
- write(chr(176))



gotory (sl ,v2) s
wirite (chr (176) )
erd y {twochar?
hegin
for wi=lett to right do
twochar (x ,top .x ,bottom) §
for yi=top to bottom do
begin
twochar{(left ,v,right .y} ;
twochar (left+1 ,y ,right—1,y)
ey |
end 3 (box 3
[rexg iy
case i1 of
small sbegin
13 2=

4
JJ =g
‘ 1

end g
medium:begin

11 :=14

J. =g

1pe=68

Jp =
end 3

higsbhegln
11 =43

ver thegin

hor shegin

end

end 3§

end

end s
window(l ,1,80,25)
window{il,JJj,ip,Jp) ;
ror(2,2,ip—ii,Jp—~JdJl;
window(ii+4,3ij+2,ip—-4,3p—d) 3
¢ lrser ' _
erndil......BEnd of Frocedure Create_window.. ...l

Froceduwre Clear;
rengin '
window(l ,1,80,2%)
clrscr |
g s {ct ear}



I I —

procedure wait ;
Var |
chichar;
bedgin
read(kbd,ch)
while ch<>*#13 do
bedin
wi~ite (#7) 3
readikbd,ch)
end
end 3 {wait 2

procedure Display _maing

heagin
Clear
create _windowi{verybhig) ;
GoOtoxy (2,20) 3
wirite('Fress RETURN to start’)
create window(medium) 3
antoxy {(7,3) |
wirite (AUTOMATED BANE TELLER SYSTEM’) 3
GOTOXY (10 ,5) 3
WIRITE (' DESIGNED AND DEVELOFED’) 3
gotoxy{18,7) 3
write ('RBY ‘) g
qotoxny (12,9) 3
witite ("FURNENIR] SINHAY) 3

ends{.....lisplay main. ... 3

Frocedure cursor_movement (1 imit _up,timit _down:integer) ;
var |
ch:char
donetbool ean 3
begin |
gdone:=talse;
repeat
read{kbd,ch) ;
if ordd{ch)=2"7
then begin
read(kbd,ch)
case ch ot
‘F’shegin
1f wherey=limit down
then write (#7) .
&l se gotoxy (wherex ,wherey+2)
end ;
‘H/ :begin
1F wherey=1limit_up
then write{#7/7)
&l se agutoxy (whetre ,wherey—2)
end
2l se write(#7)
end
endl
eise 1+ ord{ch)=13
then done i=true
e¢lese write(#7)
until dones |
endil......BEnd of Procedure cursor _movement...... « o

function power(izinteger) rinteger;
Var |

k.nsinteger;
hegin



el —  frerd—— e ek s = — s

Wgmr — et ¢ . -

tor k=1 to i do
V=N 10s;
[ OQwer 1=n
end s {power’}

function convert (il n:integer) istringl3;

( This Frocedure converts an integer to the corresponding shtring. 3
Var

Erinteger g
sratringd
bergin
sl 0)i=chr (3) ;
tor k=1 ton do
Fyesgin

sikli=chr((i mod power(n)—i mod power (n-1))
div power (n—1)<+ord{’0’))

n
"

AR
end 3
convert =4
end s {convert }

var
rrenp_rec_type;

begin
assion(x , ‘aremp.dta’) ;
rasat () 3
saek(k  filesize(x)~1)
eadd (4 ,m) 3
ralink i=filesize () g
seek (x,filesize(x)-1)
write (X ,r) 3
2 «bink s=maxint §
wirite (2 ,p) :
close ()

endil .. ofdde ..l

- ¥

Froceduw e el (var xaemp f t)
Varr
riemp rec types
1,nrinteger )
Irergin
ansign iy, 'aremp ..dta’) g
eset (1) 3
ek (w ,0) 5
read (2 ,r) 3
it r.link=maxint
then begin
close () s -
assign(no_tile,no_file name)
reset (no_file) g
readino_file,n) g
2=k o
1+ nx9%
then bhegin
create _window(ver)
gotoxy (3,3) ; | .
wirrite{ Account cannot be opened’)
end
else begin
seek (no_file ,0);
wirite(no file,nd g
close(no file); :
master_file_name:=type_of_ ac+convert (n,?2):
assign {master_file,master file name) :
rewrlte (master file) :



with master rec do

begin
clate of op:i=’"%
pass fieldi=0;
freg:=’Y";
name =" 3
acddr:=*"
end § |
wirite (master file,master_rec);
close(master _file)
rewrite ()
with v do
beain

end j
for i1 to sec_len do
bhegin
wirdte (4 ,0) 3
usec dldi=r.sec id+l g
Llink =Ll ink+d
end 3 |
assign {stat file,status_Ffile_name) ;
reset (stat _file);
seek (stat _ file,filesize(stat_+filed) s
with stat rec do
beain
fitle aci=nj
gpc _idi=1j
Mmoo _of _rec =0
alala - |
for i:=1 to sec_len do
begin
write(stat file,stat_rec);
stat rec.sec _id:=stat_rec.sec_id+1
. en
end
end
2l se bhegin
- geelk (3 ,r.11ink)
read (1 1) 5
esexek (4 ,0) 3
wirite (3 40) 3§
close(x)
e |
erid (. 08t oL aad

Function Entarwﬁypeuﬁfmﬁcamunt:hmm]ean;

bhegin
Fnter type of_account::=true;
wil W=Vl o -
create window(hor) ;
gotoxy (3,2) 3
wirite (" Bring the cursor in the proper row’) g
gotory (3,4 3
write (' and FPress RETURN) ;
create window(small)
aotoxy (2,2 3
wrrite{/ Type of Accounts’) ;
gotoxy (4,4) ;
write(’'Savings 7)) 3
gotoxy (4 ,6) ;
write (' Current ') %
gotoy i 4) s
CLr S ywement (4,6) 4



case ey of

'.:t}pemp¥mﬁa:ﬁﬁaving$;

&Hitype of aci=current

else hegin |
create_window (ver)

gotoxy (3,3) 3

wrrite (‘ Inproper selection of row’)

wirite (#7) 3 ‘
Erter_type of account i=false
end

end 3
endi;(.....Enter_type of account..... N

(¥ Frocedure (2) Enter user_ac no #)
Hrocedure Enter _user_ac _nog
Var
siatring8:
done :hool ean
chiichar;
e in
clrscrg
create window(hor) :
gotoxy (3,2 3
wirite{ ‘Enter User Account Number’)
gotoxy (3,4) 3 -
wirrite ( and Fress RETURN. )
create_window(small)
cgotoxy (4,4) ;
wirite (! Account No =) 3
read({s) g
AC NO =g

ernd; (¥, ..00.. ««» ENd of procedure Enter_User _aC NO...oes s

(% Frocedure (3) Enter user password #)
function Enter_user _password:boolean
begin
Erter user passwordi:=true:
create window (hor) ;
gotody (3,2) 3
wrrite('Fut User Fassword Card Inside .7);
gotory(3,4) 3
wrrrte (' and Fress RETURN‘) 3

assign{user_password_file,user password file name) :

rrérset (user password _+ile) s
1+ 1oresult <50
then begin |
clerscer g
create_ window(ver) ;
gotoxry (4 ,3) 3 ‘
wirite (‘Card Reading Erraor’) :
wirite (#7) 3
create_window(hor)
gotoxy{(3,4) ;
wirite ("Fress RETURN to try again.’)
Enter _user password:=fal e
erc
else bhegin
reart(user _password file,u password)
close (user password file)
enc

erndi(¥.......... End of procedure Enter user password

(¥ Function (1) Check account no *)
Functson check_account _no(s:stringd) :hoolean:

bheoin
if slild*type of ac
then check account nos=falae

Iddhnw



&l se begin

master tftile_namelQl:=chr(8) ;
master_+ile_name:=copy(s,l , D)+’ .dta’ :
val (copy (s ,6,3) ,act _ac_no,error) ;
val (Copy {s,4,2) ,5€c_no,error) : |
asslgn (master_file,master file _name) :
reset (master file)
1+ ioresul t>0
then begin
write(#7) :
create _window (ver) |
gotoxy (3,3) ;
wrlte ('lisk Keading Error’) g
create window{hor) g
gotoxy{(3,4) 3
write{ Fress RETURNY) 3
check account no:=fal s
el
el se begin
seek (master_file,act_ac_no) g
read{master_+tile,master _rec)
1t upcase (master rec.free) =’'N’
then begin :
check account_noi=true:
master name:=master rec.name:
master addri=master rec.addr;

check _password:=master rec.pass field
el

&1 se begin -
check _account _no:=talses
wirite (H7)
create window(ver) j
gotoxy (3,3)
write (“Wrong Account no’)
gotoxy (3,4) ;
witrite (' Fress RETURNY)

end
end;
cloze{master_file)
end
end 3

(¥ End of Function Check_account no  *)

(¥ Function Fassword checker Starts *)

Function Fassword checker(i,jrinteger) thoolean:
begin |

password_checker s=i=j
end g

tunction generate password:integer g
begin

generate password::=random{maxint)
endil.....0enerate password. . ...l

tunction Enter_manager_password:bool ean
begin
Enter manager_passwordi=true
Clear; |
create window(thor) g
gotoxy (3,2) ; )
wirite (/Fut your Fassword Card Inside’) :
gotoxy (3,4) 3
wirite ( and Fress RETURN‘) ¢
walt ; 3
assign (m_password _file,m_password_file name)
reset (m_password file) 3
it ioresult<s0
then begin
clear;
create window(ver)



gotoxy(3,3) 5
write ("Card Reading Error’)
create windowdhor) g
gotoxy (3,3) 3
wrrite('Fress RETURN ‘)
witite (#7) 3
wait ;
Eriter_manager password:z=fal se
arnd -
el se read(m_password file,m _password)
end;{.... Enter_manager password.....2?

HFrocedure Enter _service_reqguest g
heain
clrscrs
create window(hor) g
gotoxy (3,2) 3
write('Bring the cursor in the correct oW’ )
gotoxy (3,4) 3 ‘
wrrite (' and Fresse RETURNY) j
create window(small) g
gotoxy (4 ,2) 3
wrrite(‘Opecity Type of service needed’)
gatoxy{4,4) 3

wrrite('Open Account oo e e w. . es )
gotoxy (4,4) 3 |

wrrite(‘'Close Account ..o, - 37) 3
gotoxy (4,8) 3

wrlte(‘'Calculate Interest..... ) s

gotoxy (28 .,4) 3
- cursormovement (4 ,8)

case wherey of |
4rservice_request :=0pen_account g
hiservice request:=Close ac:
iservice_ request i=Interest calcul ate

e

Erdileee e Enter_service _request...... 3

Frocedure Open_account processor
4 1a
1 rinteger
found shool ean ;
bre2gan
1f Enter_type of account then
begin - |
assign{emp file,emp file name) g
reset {(emp _file) ;
1+ 1oresul a0
then begin
clear s
create window{ver) ;
gotoxy (3,3) 3
write (‘Error in accessinag’)
gmtmxy(3,4{;
wirite( " empty file.’ ) ;
wirlite ($7) 3
create_window(hor)
gotoxy (3,3) 3
wrrite('Fress RETURN to try again’) g
over 1=fal ge
&l
&l se begin
seek (emp_fi1le ,0)
read(emp_file,emp rec) s
fi1le_no:=emp_rec.file_id;
SEC_Noi=amp _rec.saec iod;
assign (stat_file,status_file name) 3
reset (stat_file)
i+ ioresultdx0
then begin
clear;
create window{ver)



Qotoxy (3,3) ; o
wirite ("Error in accessing’) s
gotoxy (3,5) 3 ‘
write(‘status file.’) s
wi~ite (#7) 3
create_window(hor)
gotoxy {(3,3) 3
wirite( 'Fress RETURN to try again’) :
over::=tal se
end
else bhegin
- dr=(file_no-1) *sec_lentsec no-1g
seek (stat _ file, i) g
read (stat_ file,stat _rec)
stat _rec.no_of _reci=stat_rec.no_of rec+l:
seek (stat +ile, 1)
write(stat file,stat rec) i
close(stat file)
1t stat_rec.no_of _rec=sec_len
then cdel (emp_file) ;
Closelemp _file) ; |
master file_name:=type_of_ac+ copy(convert (fite_no,2) ,1 ,2)+7 .[ITA’ ;
agaign (master_file,master file name) ; |
reset (master_ _ftile)
1t 1oresult<x0 then
begin
create window{ver) 3
gotoxy (3,3) 3
witite(‘Error in accessing’)
gotoxy (3,4 3
wirite { "Master File’)
wirite (#7) ;
over:=fal se
end

&1 se
heqgin
L i=sec_len*¥{sec _no-—1)
seelk (naster file,i)
toundi=fal se
while not found do
bhrergin
rerad (master_file,master_rec) ;
1f master rec.free=Y"
then {ound::i=true
else begin
18=31+1
ceek (master_file,1)
enrnd
erid g
if found
then with master rec do
heagin
date_of_ op:=todate;:
pass fieldi=generate
cClrscrs
creaxte windowdhor) g
gotouy (3,2) 3
wrrite (‘Fut the new card in the drive /)
gotoxy (3,4) ; |
write ( and Press RETURN, ) s
wait
ass1gn (user password_file,user_password file name) j
rewrite (user password file) ;
witrite (user password_file,pass_field) :
closeluser password tile) g
treer='N’;
clerscrg
gotoxy (3,3) -
wrrite ('Enter user name ') 3
create _window(small) g |
gotoxy (3 ,3)

password j

ddlm



wWrtiTe o Name 5 J o
read] niname) ;
create_window (hor) g
gotoxy (3,3) 3
wrrite (' Enter user address /)
create_window(small) g
gotoxy (3,3) 3 |
write (‘Address 2 7))
readln (addr)

end g

clerscr s .

create _window(hor) g

gotoxy (3,2) 3 | -

write( ' Take out the card from the drive’) ;

gotoxy(3,4) ;

wrrite(’ and Fress RETURN.’) 3

walit ; -

saeek (master_file, i) g |

write(master file,master rec) g

close(master_file) ;

ac_nor=copy (master_+file name,1,3) +

copy(convert(sec no,2) ,1,2)+copy (convert (i ,3),1,3) ;

create window(hor) g

goatory (3,3) 3

write('Note the Account Number’) :

gotoxy (3,4) 3 |

witrite (' and Fress RETURN') ;

create window(ver) 3

aotoxy (3,3) 3

wrlte (‘User Account no’) g

gotoxy (3,4) 5

write(/is ‘,ac _no)d g

wait g

clrscr g

ac_file namei=convert (i ,3)+‘, +type_of _ac+’ac’;

assignlac_ftile,ac _file name) |

rewritelac file) g

repeat

create window(hor) ;

gotouy (4,4) 3 |

wirite ( ‘Enter Deposit Money’)

craate window(small) ;

gotory (3,3) 3

wiritte (' Deposit Money @ ‘) 3

readln (money) 3 |

1+ money<asminamt

Then begin

wiriteln (out , 'Minimum Deposit Money is ¢ ,minamt):
create window{ver) ;

gotony (3,3) 3 |

wrrite ("Minimum Deposit’) g

write( ' Money is ‘ ,minamt)

end
until money>=minamt ;

with ac _rec do
begin
dater=tadate
trans type:=deposit j
amt r=money 3
total i=money
encl 3
writelac_file,ac_rec) g
close(ac file)
seelk (bank_file,b)
read (bank _file bank _rec) 3
new st _noi=bank _rec.sl! _no+l;
ntotal :=bank rec.net cash+money
with bank rec do
| hegin
sl _no:=new sl _noi
dater=todateq
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- trans _type:s=’1"; -

amt s=money;

net cashi=ntotal
end |

wiritte(bank _+tile, bank rec)
by a=b+1;

clrscr;g

create window(ver) s

qotoxy (3,3) 3

wirite (‘Service Over’)
wiriteln (out, User Details’ s
wrriteln (oput , - e 4
weiteln (out) g

wiriteln{out , ‘Name’ 140, 1/ ,master_rec.name140) 3
wrriteln (out , ‘Address’ 140, 3/ ymaster _rec.addr:140) ;
wiriteln (out ,"Account No’ (40,7 7 jac_no::40) 3
writeln(out, late of UOpening’ 40,7 2/ .s:40) 3
wreiteln{out , "Amount Deposited’ :40,7 17 ,money:40:2)

£ N

0)
) :

ey

end
&rd
end :
e
else oaveri:=falge
endil.......0pen_Account Frocessor.... .. . wd

Frocedure CalculatemintéPE§t;

const

max_no_of trans | o= 100y

type

auxt =record

end 3
Var

dtield :stringéds
ot Areal

no_trans,i,k,n,d sinteger;

ALK are
ALNrec

completes

tarraylO...max_no_of transl of auxt g
rauxt j
thoolean 3

loemin,interest ireal ;
manth,premonthistringl2] g

Brexgin

interest s=0g

Er=f1leg

ize(ac filel—-1:

conpleter=ftal se s

no_trans
while (n

doy begin

erd g

2=y

ot cmmﬂfete} and (k >=0)

seel (ac_tile, k)
1 f acmrec.tranﬁitypem’lf
then begin |
complete::=true:
no_trans:=no_trans+i
endl
el se begin |
awxarrino _transl.dfieldi=ac_rec.date:
auxarrino_transl.tot r=ac_rec.total
boas=p—1 2
no_trans:=ngo_trans+l1
- end

tocmini=auxarerlno_trans—11.tot:

monthii=copy (auxarrino_trans-11.dfield 3,2) &
for ni=no_trans—-2 downto O

do begin

val (copy (auxarrinl.dfield, 1 ,2) .,.d,error)
month =copy (auxarrinl .dfield,3,2) 3
14 premonth<>month

then begin .
interest i=interest+locmin*rate/12
tocmin s=auxarrino _transd.tot
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“lge 14 d>10
then 14 auxarrinl.tot<locmin

then igecmins=sauxzareyind.tot
end

seek (ac_file,filesize(ac_file)~1)
read(ac_file,ac rec)
ac_rec.total i=ac_rec.total+interest:
ac_rec.amt i=interest ; |
ac_rec . .dater=todate
ac trec.trans type::=’17;
seek (ac_file,filesize(ac_file)~1);

| writelac _file,ac _rec)

=] T I S Calculate Interest....cesrsnees. 3

Frocedure Close account(s3:string3;zi,jrinteger) ;
Vv ar
kyfile norinteger:

begin

ac_tile namel0di=cher(7) 3

aﬁmfi]Emhame:mCﬂpy(aEmﬁﬂ,é,3}+’.’+typemg¥_aﬁ+'ac‘;

assian(ac_ftile,ac_file_name) ; |

reset (ac_file)

1f loresult >0

then begin
clear;

create_window(ver) j

gotoxy(3,3) 3

wrrite(‘Error In Reading’) g

gotoxy{(3,4) :

wirite{'Account File’)

write (7) 3

create_window{hor) ;

gotoxy (3,3) 3

write(‘Fress RETURN to try again’) g

over:=ftal o

el
&l se begin

calcul ate_interest s

create window (ver) j

gotoxy (3,4) ;

write (‘Service Over’)

wiiteln (out) g

wreiteln (out y'late of Closing’ 140 ,5:40) 3 |

writeln{out, Amount of Money To Be Returned’ :40,ac

close(ac tile)

arase{ac ftile) ;

assign (master_file,master_file name) ;

reset (master ftile) ;

1f ioresul >0

then begin

create_window (ver) ;
gotoxy(3,3) 3
write('Error In Reading’) ;
gotoxy (3,4) 3
wirrite(’The Master file’) ;
close(master +file) g |

rec.total :40:2) ;

Nuydld

end
else begin |
o seek (master_file,act_ac no):
master prec.free:='Y"
wrrite (master_file,master rec);
close (master file) 3
assign(stat_file,status_file name)
reset (stat _file)d s
rf doresult 0
then begin
create_window(ver) i
gotoxy (J3,3) 3
write('Error In Reading Status File’) s
close(status _file); |
end



&1 5e hegin

val (copy(s3,2,2) ,file_no,error)

ka=(+file nmml}*ﬁec dentsec no—1
seek (sta¥t_file,k) 5"

read(stat_file,stat _rec) i
with stat rec
do no_of reci=rno of rec—1 g
soek (atat File,k) s
wwltei%tﬁtmf11e &taterﬂ);
<$1aﬁetﬁtatm¥i}ﬁh
&end

Ay R

end
erd
endi;{.....Close _account......}

Frocedure Close Account _processor g
Prexgin

1¥ Enter_type of account then
begin
Enter_user ac noj

it check account no(ac _no)
then h@gln | -

it Enter_user password

then if password._ chealﬁrfch@chmpaﬁﬂwmrd L_password)

then close Laccount (master file name,sec no, act _&C _no)
el se begin

ol ear:

create_ window{ver) ;

gotoxy (3,3) 3

wr-ite ("Wrong Fassword’) ;

create windmw(hmw}-

gotony (3,3) ;

write ('’ Freas RETURN to tﬂy ﬂga1n. )
wirtte (#7) ;

aQveri=tal se

eric
enrd
el se begin

1 ear
Create_ window(ver)
gotoxy (3,3) 3
wraite ('Wrong Account Mo’ )y
wi~rite (#7) :
overi=+alse

end

end
&lse over:=false

end il ... ..Close _account Processor «oee ...

Frocedure Interest _calculation_processor:
Var

1rinteger
DegiLn
1f Enter_type of account then
begin |
Enter user_ac nos
1f check_account no(ac no) then
Degin .
ac_file_ nameld)s=chr(7) |
ac_file name:=copy{ac_ nm G, 4+ L +type _of_ac+’ac’
ausign (ac tite,ac flle name)
reset (ac_file) g
if ioresults:o
then begin
create_window(ver) ;
gotoxy(3,3) ;
write(‘'Error in accessing’) g
gotoxy (3,4) ; |
wrlte (‘Account file. ) s
create window{hor) @
gotony (3,4) ;

e e HH R R T i, @ r



TRAFITeE C Fress RETURN T3
over =+al se
end
21 se begin
calcwl ate_interest N
wrrite (ac file,ac rec) s
create_window(small) ;
create window (ver) j
gotoxy (4 ,5) 3 |
wirlite (' bervice Over’)
e |
close(ac file)

-1

end
erncl
o] g over:i=fal se

endil......Interest_calculation processor......}

Funct ion Eheakmmanagermpaﬁawmrd{i:ihteger}:bmm]eaﬁ;
brergin

check manager_password:=check m password=i
end sl e ulheck manager password . .eeean s}

{ %-ﬁ-**%'l!************%*********ﬁ-*%*****************************%**'%%-ﬁ-*‘!“ﬁ'*'ﬁ'*** 3

Begin
clear;

wailt s
assign (out, ‘pra’)d g
rewrilte (out) g
<l ear;
create_window(hor) s
gotony (3,3)
write ("Enter Date and Fress RETURN., ‘) ;
create _window{smal i) j;
gotoxy (4 ,4)
write(’'Date (dd-mm-yy) 27}
reexad () 3 -
todatel O] s=chr(é) j
tadatei=copy (s,1 (2)+copy (5,4, 2Y+copy (s,7,8) 3
1+ enter manager password
then if check_manager_password(m _password)
then begin
' assigni{bank_Fite,bank _file name) ;
reset (bank _fite) s
bi=tilesize(bank_file)—1i;
seak (bank_+tile,b) ;
repeat
clear;
Over s=true )
enter gservice request ;
case service request of
open_account -
close ac :
interest catlcul ate

open_account processor s
close account processor
interest_calcwlation _processor
end 3 |
1t over
then begin
create _window(hor) 3
gotoxy (3,3} 3
write (' Fress RETURN for further use’)
end 3
readkbd,ch)
untill ch<>#i3

e _
©elese begin

create windowi{ver) i
gotory{(3,3) 3
wirite { "Wrong Fassword ‘)
wirite (H7) 3



CrEateE_window (hard §
gotoxy (3,3) 3
write (‘' Fress RETURNY) :
wait -
end j
cltose{bank _+ile) j
clear
end .

1 %**-*****%%********%*****************%%****%***%***********%*%*%*'ﬁ**.fﬂ‘fm**)

b % Main Banker PFrogram Ends Here | %)
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